AOP B Ek B4, wne BATEEARTIR | BATEEART | F46EEARTIR| FH46EEART
Sy & HALR FHERE | M—TFTAMKkE | FHERS | MFAMRR
1 FA AT avhk AN 1290 600 150 270 270
2 Frl L [ EiaPN - 1200 600 600
3 HLTC % 792 42 600 150
4 HLTC ZH 780 90 270 420
5 7)Y MEES 720 270 90 270 90
6 FA A avh £ H fndl 620 420 200
7 HLTC T Tl 600 420 150 30
8 FA A avhk b5 470 270 200
9 Fxl— AR FEZIT 452 270 42 140
10 FAA avh [NESN 420 420
11 HPETZ EENEY 390 150 150 90
12 V= —JE R K fTE 342 150 150 42
13 FEATC MEESS 330 90 90 150
14 & HmEAR EFE 318 150 18 150
15 HPETZ K} e 300 150 18 90 42
16 Ay AV H 270 90 90 90
16 & LilEA FrH BT 270 270
18 HETY g2 1L {2 264 90 42 42 90
19 JEARERETC 15 240 150 90
20 HEARTC HH P, 222 42 90 90
21 HPETZ ElE 198 90 90 18
22 HPET Y & H E5L 192 42 42 90 18
22 J=—JE K FNEERL 192 150 42
22 Avbh AV m B 192 42 150
25 NTT R&D /K [ 182 42 140
26 Ay AV PRIEN 174 90 42 42
26 Ja— AR H- 174 90 42 42
26 HETY T2 B 174 90 42 42
26 HPETZ TEK it h 174 42 90 42
30 F AR 3k 2 R 164 150 14
31 T.0O.P ER PN 162 42 90 30
32 Fyl D SN 140 90 50
33 JEAHKE (BN 132 42 90
33 7Y JeRJE A 132 90 42
33 HIJER 7K H KEL 132 90 42
33 HLTC B A& — 132 42 90
33 FEATC Bl 22— 132 42 90
33 & LisEA 1 /K LB 132 42 90
39 JEKOKF AN 104 90 14
40 HPETZ B fE 102 42 18 42
40 HPETZ .4 PN 102 42 18 42
40 FAA =R i PN 102 42 30 30
43 & sEAR NE 92 42 50
44 T.0.P 7 H s 90 90
44 HiET/ ST (T 90 90
44 HROHETC I 90 90
44 HETY e Ay 90 90
44 HOHETC £4 H K 90 90
44 JEAREBETC G 90 90
50 Ja— [ A E— 84 42 42
51 FxlL T NN 82 42 40
52 V=—JEK AR T 80 50 30
53 Fxl D JoRJE P 78 18 42 18
53 HPET S FERT 78 18 42 18
55 JEAREEETC EATYS 76 30 40 6
56 NTT R&D P RTE 72 30 42
57 FxlL A R 68 50 18
57 HOHETC 1T #fikst 68 18 50
59 JEOR T T SN 64 50 14
60 & LlER TS 60 42 18
60 Fx o ATC HEE 60 18 42
60 FxlL D A Bk 60 18 42
60 T HEE— 60 18 42
60 NTT R&D S FeE 60 30 30
65 FyxlLv gR H 5 58 30 18 10
66 V=—JER IES SN 56 14 42
66 Frl L i 5 BRI 56 42 14
66 JT=AI57 = H TR 56 42 14
69 FA A avhk NS AT 50 50
69 HOHETC N PN 50 50
71 HOHETC A — = 45 14 28 3
72 JERTIKE R WO 42 42
72 HPETZ R L] 42 42
72 Fx o ATC TN 1= 42 42
72 JEAHKE [ 42 42
72 NTT R&D FIR 55 IH 42 42
72 HLTC N L 42 42
72 TE8), TE[ Ik — 42 42
72 Avbh AV B 5E L 42 42




AOP I &, 7N BATRIEARTE | FAEEART | H46FEARTIE| F6RERT

Sy PTRE HALR FHERE | M—FAMKkE | FHERS | MFAMKR

72 NTT R&D A F5F 42 42

72 FEATC S e 42 42

72 & LsJEA A% FHE 42 42

72 Fxl D RS BEA 42 42

72 F L ATC K] Ba 42 42

72 & LilEAN FHE sk 42 42

72 & LEEAR EnEZ 42 42

87 Ly b AV P {fE 40 40

87 Ly bh AV Lk #21 40 40

89 Fxl D B — R 36 18 18

90 Ay AV ‘= H A 34 28 6

91 DN SH A 32 6 6 10 10

92 HETY &K 8 30 30

92 TEH), TE0 S EA 30 30

92 TEH), TE[ N 30 30

92 HPET Y IIEEFN 30 30

92 FxlL Jb)1T FE= 30 30

92 FxlL D EIEEYN 30 30

98 Ay AV s 28 18 10

98 HETY e i Bk 28 28

98 V=—JEK 4 FHOBEER 28 14 14

98 Fxl D A 2 28 28

102 JEREEETC HYFH [ 22 6 10 6

103 Fxl D R H e 19 10 3 6

103 Ay AV [EEEA 19 3 3 10 3

105 HOHETC [ NGl 18 18

105 TEH), TE[ AR Hath, 18 18

105 TEH), TE[ A% 15 18 18

105 HLTC BT R 18 18

105 T =TI 18 18

105 HOHTC MEREE 18 18

105 F L ATC AR i - 18 18

105 HOHTC g Bk 18 18

105 b AV ot R 18 18

105 NTT R&D [N 18 18

105 Fxloy TR fo 18 6 6 3 3

105 FylL D I Pe— 18 6 3 6 3

105 Fxloy B 18 18

105 HOETC S HE 18 18

119 FEATC U i 16 10 6

119 Ja— K& {iEH] 16 10 6

119 Fxl D BN SRR 16 3 3 10

119 Fxloy TN 1B 16 6 10

123 H 7 JEK B Y5 15 3 3 6 3

123 Ay AV JIHA 5 — 15 3 3 6 3

123 Fxl D (A=) 15 6 3 6

126 JEARTIAFT %k =] 14 14

126 HETY Al (A 14 14

126 Fxlo T W3 =% 14 14

126 FyxlL EH WA 14 14

126 FEATC tHH 25 14 14

126 TE#), TE 2B R 14 14

126 FA A avh R — 14 14

126 FEATC IR FE 14 14

126 JEARERETC i 7% 14 14

126 TEH), TE LB At 14 14

126 Avbh AV ETINESEIS 14 14

126 HPET S IR —HE 14 14

126 HPETZ RS {8 14 14

126 V==K bROE o — Al 14 14

126 V) =—JE K HIhE 14 14

126 HJEA T il 14 14

126 V=—JEK BRZ LEIT 14 14

126 Fx o ATC [N 14 14

126 Avh AV FIAT 14 14

126 NTT R&D S RIS 14 14

126 HPETZ BAR s — 14 14

126 V=—JEK — I B 14 14

126 HPET S V320 Pl 14 14

149 Ay AV s 13 3 10

150 Fxl D )] B4 12 6 6

150 Fxloy FEF 12 3 3 3 3

150 HOETC T o 12 3 3 3 3

153 Fx o ATC SN 10 10

153 FEATC FEA Gl 10 10

153 E8), fEfE -SF IRaE 10 10

153 JEKREFETC ECED 10 10

157 FxlL D TR & 9 6 3

157 JEARERETC (LR 3% 9 3 6

157 Fxl D NH E 9 3 3 3




= AA BATEIEARTR | BATEEART | F46EEARTIR| FH46EEART

sosvy | PREK &4 Ao | ERAR | bR | FRA | bR ik

157 HETY INEE T 9 6 3

157 HOETC KIF S 9 3 6

157 |F=0— JE I EIE 9 3 6

157 |Fyo ATC GET 9 3 6

164 2ZH—TC it T 6 6

164 FxLoD TN BB 6 6

164 Ay AV ok R 6 6

164 TEH), TE K B 6 6

164 Fxl T TEJ5 5L 6 3 3

164 [A¥—TC KA 6 3 3

164 Avbh AV ey A — 6 3 3

164 [JEAEBFETC AN R — 6 3 3

164 Good shot B ot 6 3 3

164 [NTT R&D I 6 6

164 FxlL T R i 6 6

175 Va— A 3 3

175 [Fyloy [ENESN 3 3

175 Ay AV i 5 At 3 3

175 FAAT 3k &I I 3 3

175 Ja— Bl & e 3 3

175 TEH), TE[ PREL F3 3 3

175 TEH), TE V532 K 3 3

175 HOHTC JEAR BT 3 3

175 EINACES JIIRy 55 3 3

175 EINACES kIR FEFR 3 3

175 B EH w2 3 3

175 FrLoy A HEFN 3 3

175 JEREFETC A seir 3 3

175 F o ATC AN B 3 3

175 Fxlvy JEURE RERS 3 3

175 Fxlo T VR fiisE 3 3

175 JEAREFETC S 3 3

175 HJEA [if iy f55 3 3

193 HPETZ FKEF IpE 0

193 V=—JEK I AL 5 0

193 Good shot Bt E— 0

193 HPETZ SEH K] 0

193 Va— FAL 0

193 T.0O.P EIENEE 0

193 V=—JE K N 0

193 JEARTIAEFT e 5L 0

193 7Y A e A 0

193 V=—JEK i Al 0

193 JEAHKFE PN H 0

193 T.0.P A0 0

193 [Fvh A SE A TS 0

193 V) =—JE K TA B 0

193 HETY EEE DN 0

193 JEARTIRFT NE O 0

193 HETY Bk — - 0

193 2ZH—TC [N 0

193 |HETZ A B 0

193 Ay AV RN 0

193 FylL D R RETR 0

193 FrlL L H B 0

193 Ly bh A R AE 0

193 Ly bh A L HEER 0

193 Fxlvy BiIE I 0

193 JEAHKE ALk) g 0

193 FAA avh AR 1E2 0

193 T.0.P A ki Hl] 0

193 T AT 5Lz 0

193 FxL oy A F5 0

193 FAAT 3k 1 e ) 0

193 [Fubh A~ HPEURAR 0

193 TLUY /NI G 0

193 JEAHKE KA W& 0

193 V=—]ER H R/ 0

193 TEH), TE NEINEC 0

193 HPETZ RS 0

193 JEAHKFEF R e 0

193 HETY g L 0

193 JEAR TP A FEIE 0

193 T B2 =5 0

193 TE8), TE e B 0

193 F o ATC N 0

193 HIET7 KRB FnZ2 0

193 TE#), TE TN g 0

193 FAARavh Fa A KA 0

193 JT=AITT ARA K& 0




_ oy BATEIEARTR | BATEEART | F46EEARTIR| FH46EEART
SoRey PR K4 o FERS | MTAMKE | FHASR | FTAMKE

193 JEAHKE (L 2 0
193 JT=AITT AR RS 0
193 F ¥ ATC gA 7mE 0
193 HIET Y (LT X 0
193 Fyl D X H 0
193 F o ATC Vel Vi 0
193 FAAT 3k s Pk 0
193 HETY ERETIN 0
193 TEH), TE JIPE- #H1 0
193 Fxlvy %Ik B 0
193 HOHETC FEH I 0
193 V=—JE K TR B 0
193 FxlL E5 M 0
193 TEH), TE0 = ek 0
193 TEH), TE[ B Tk 0
193 TEH), TE0 TiE IEHH 0
193 V=—ER A KA 0
193 TEH), TE[ EINES 0
193 TEH), TE e 0
193 HETY g AN 0
193 JEAREEETC IR FE—RR 0
193 NS JITA AL 0
193 FAAT 3k ke B 0
193 JEREFETC L) TR 0
193 FA A avh Tt 3B 0
193 V=—JEK g sCHI 0
193 FyloD i B — 0
193 Avbh AV AL KT 0
193 FAAT 3k H s — 0
193 HOHTC fH IR 0
193 FA A avh I 0
193 FyxlL v 2 R AEA 0
193 FyxlL v il B 0
193 HLTC AE P 0
193 Frlo o BRI BE 0
193 HJEA HE = 0
193 F L ATC e v — 0
193 Fxlvy A JE(E 0
193 HLTC A R 0
193 FxL vy L 0
193 HIEARTC Hh #&E 0
193 NTT R&D i BT 0
193 JEREFETC B 0
193 T.0.P il B 0
193 Fxl D Al & 0
193 2ZZ—TC K 0
193 Fl— HER & 0
193 Frlo o RPN 0
193 FAAT 3k I ERR 0
193 FxlL IR 0
193 Voa— A% PR 0
193 JEARERETC e BT 0
193 FAA gy A UK 0
193 JEKREFETC — % T 0

0

193




